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QUESTION 1

Customer business is very important and has a large amount of data, requiring the best possible business continuity
after natural disasters. Which kind of network design is best for this? 

A. In the same city set up two data centers to do synchronous replication, located in another remote data center to do
asynchronous remote replication 

B. Set up two data centers in the same city to form a dual disaster recovery network 

C. Set up a data center in the local and remote sites to form a dual-active disaster recovery network 

D. In the same city set up two data centers to do double live in another remote data center to do asynchronous remote
replication 

Correct Answer: D 

 

QUESTION 2

The client environment is the HP-UX11i v2 operating system, the HBA is the AD193A, and the operating system comes
with the driver. The storage array is Huawei OceanStor V3. When the LUN mapping between HP-UX and the storage
system is completed, you can not change the topology mode of the FC host interface card on the storage system. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

Which of the following about the multi-channel usage of Huawei OceanStor 9000 to SMB3 is correct? (multiple choice) 

A. The client must also support the SMB3.0 protocol 

B. If the client has only one network port, you can not use the SMB3 function 

C. If the client has a GE network port with the same type and number of ports, when the client uses SMB3 to access
Huawei OceanStor 900, the client will establish multiple connection channels with Huawei OceanStor 9000 

D. If the client has two or more GE and 10GE IB ports of the same type, after the SMB3 is applied, when one of them is
disconnected from the network port, business will be interrupted. 

Correct Answer: AC 

 

QUESTION 4

Which of the following are Oracle11g logical backup methods? (Multiple choice) 
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A. EXP 

B. RMAN 

C. EXPdp 

D. imp 

Correct Answer: AC 

 

QUESTION 5

In simpana backup software, incremental backup means _______. 

A. The data that has changed since the last backup is backed up. 

B. Changed data backup since last full backup. 

C. Full backup of all data. 

D. After the initial backup data backup of all data. 

Correct Answer: A 

H13-629 PDF Dumps H13-629 Practice Test H13-629 Exam Questions

Powered by TCPDF (www.tcpdf.org)

H13-629 PDF Dumps | H13-629 Practice Test | H13-629 Exam Questions                                3 / 3

https://www.pass2lead.com/h13-629.html
https://www.pass2lead.com/h13-629.html
https://www.pass2lead.com/h13-629.html
http://www.tcpdf.org
https://www.pass2lead.com/h13-629.html
https://www.pass2lead.com/h13-629.html
https://www.pass2lead.com/h13-629.html

